SLRBFH KR E A B F BB R (FR LI F AR

e s TEIRAEEMRAA (L&)
#8 : %%ﬂﬁ(ﬁﬁmm)

ix EFR
(1) AR B BRESTSAARR X —8 %
| (2) FRAMESES RALBEARK -

— RAMERBTIEHADRK (10%)

Max Z=6X +3X,+4X,
st. X, 230

X

2

X

3

X +X,+X,=120

X X, X, 20
—~FRTFTHER A

D | E F G ] BEE |

— - N I i——— .__——]I I —

L A 7 10 4 | 8 | 60
B 7 11 12 6| 80 I

| c | 5 8 | 15 | 9 | 60

F £ 2 |

EkE| 40 | 40 | 50 0 | 200 |

HAB-CLRELFHED E-F-GHEM » AP HMABAE
B RA

(1) XA BEILAEKRAAR - (5% )

(2) UM mERxER - (15%)

£ 5 A% 1R




0 4 1
= ~FRTH A3 ZHBER A= 3 -2 5
' -3 6 —2]

(1) XKL Fz2H KRR - (5%)
(2) REHEM - (5%)

g ~ Network problem. (4§3& fc]#8) - (20%)

1. (10%) (a) Find the shortest path of the network from point 1 to point 7.
(b) Compute the distance of the shortest path in (a).

(c) How many shortest paths (from point 1 to point 7) for the
network 7

2. (10%) Find the maximal flow of the network from point 1 to point 7.

% ~ Integer Programming. (X EMA.H))  (20%)
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